o . . . = {
SC zEmmmsuEmas KHB KHM % 5) 18 & 2t i 5 2R A

KHB KHMZR5IIRBGRERKE (EIFRRE)
1 R

04 8 61 35 30 48 13 30 8 7 19

KHB - G1/2 - 1 11 2 -01-*

220 KHB-M12x1.5 04 M12x1.25 10
M M BHEE®6) @) (@ HEIBoB4-TTHR MBS kupmiets 06 06 11 MIeLS 11 69 35 30 48 13 30 8 7 19
KHB-M22x1.5 08 08 16 M2x15 12 76 42 35 53 17 40 8 9 27

KHB-M27x1.5 10 10 20 M2x15 12 76 42 35 53 17 40 8 9 27

1. F@ftS: KHBR3; KHMERFY KHB-M30xL.5 16 15 24 M30x15 13 8 47 38 6 19 45 11 9 32
2. IBEHIEEEE MR M**, G**, NPT**, **LR,**SR KHB-M36x2 20 19 30 M36x2 15 103 60 48 75 245 55 11 12 41
' KHB-M42x2 25 24 35 M4 18 116 65 57 8 285 64 11 12 50

3. WRIHIEE: 1-8N; 2- AR5 KHM-M52x2 32 30 40 M52 20 149 84 75 1027 375 842 12 17 60
4. BB 1-SEW; 3- R KHM-M60x2 4 36 50  MeOx2 22 174 91 85 1137 425 952 12 17 70
KHB-G1/8 04 06 - Gl/g8 10 69 35 30 48 13 30 8 7 19

5. TERE: 1: -25°C~+100°C; 2: -30°C~+170°C KHB-G1/4 06 06 - G1/4 14 69 35 30 48 13 30 8 7 22
6. TEHME: 2-TISIRE: 4- TR KHB-G3/8 0 10 - G38 14 72 4 35 53 17 40 8 9 27
KHB-G1/2 1 B0 - G2 16 8 41 38 6 19 45 11 9 32

7. RELIE: =A-HE; G-BIEHEF - KHB -G3/4 20 20 - G3/4 18 95 60 48 75 245 55 11 12 41
KHB -G1 5 25 - GI 205 113 65 57 8 285 64 11 12 50

KHM-G11/4 32 30 - Gl1/4 22 110 8 75 102 375 842 12 17 60

.  KHMG11/2 40 38 - Gl1/2 24 130 91 85 1137 425 952 12 17 70

A /MRS KHM-G2 50 48 - G2 26 140 100 105 1312 525 1127 12 17 80
KHB -NPT1/8 04 06 - NPT/ 10 69 35 30 48 13 30 8 7 19

KHB -NPT1/4 06 06 -  NPTL/4 14 69 35 30 4 13 30 8 7 22

KHB -NPT3/8 10 10 -  NPT3/8 14 72 42 35 53 17 40 8 9 27

KHB-NPT1/2 16 15 -  NPTL/2 16 8 41 38 62 19 45 11 9 32

KHB-NPT3/4 20 20 -  NPT3/4 18 95 60 48 75 245 55 11 12 41

KHB-NPT1 25 25 - NPTL 205 113 65 57 8 285 64 11 12 50

KHM-NPT11/4 32 30 -  NPT11/4 22 110 84 75 1027 375 842 12 17 60

KHB N KHM-NPT11/2 40 38 - NPTIL/2 24 130 91 85 1137 425 952 12 17 70

= KHM-NPT2 50 48 - NPT2 26 140 100 105 1312 525 1127 12 17 80

KHB-06LR 04 04 06 MI2x15 10 67 35 30 48 13 30 8 7 19

KHB-08LR 06 06 08 M1&15 10 67 35 30 48 13 30 7 19

KHB-10LR 08 08 10 MIexl5 11 74 42 35 53 17 40 8 7 27

KHB-12LR 10 10 12 M85 11 74 42 35 53 17 40 8 9 27

KHB-15LR 12 12 15 M2x15 12 8 47 38 6 19 45 11 9 32

KHB-18LR 16 15 18 M26x1.5 12 8 47 38 62 19 45 11 9 32

KHB-22LR 20 19 22 M30x2 14 101 60 48 75 245 55 11 12 41

L KHB-28LR 25 24 28 M36x2 14 108 65 57 8 285 64 11 12 50

KHB-35LR 32 30 35 M4sx2 16 141 84 75 1027 375 842 12 17 60

m—@—. KHB-42LR 40 36 42  Ms52x2 16 162 91 85 1137 425 952 12 17 70

—f\\‘__//L KHB-08SR 04 05 08 MIext5 12 73 35 30 48 13 30 8 7 19

KHB-10SR 06 06 10 Mi815 12 73 35 30 48 13 30 8 7 19

KHM - —H ][ KHB-125R 08 08 12 M20x15 12 76 42 35 53 17 40 8 9 27

= - KHB-14SR 10 10 14 M2x15 14 8 42 35 53 17 40 8 9 27

KHB-165R 12 12 16 M24x15 14 8 47 38 6 19 45 11 9 32

. - KHB-20SR 16 15 20 M30x2 16 90 47 38 62 19 45 11 9 32

1 KHB-255R 20 20 25 M36x2 18 109 60 48 75 245 55 11 12 41

L " '  KHB-30SR 25 25 30 M4z 20 120 65 57 8 285 64 11 12 50

KHM-38SR 32 30 38 M52x2 22 153 84 75 1027 375 842 12 17 60




